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Public Administration

Paper III

weh 99T
PEECIECAIN

Time Allowed : 2% Hours]
Note : This paper contains Seventy Five (75) multiple choice questions. Each
carrying Two (2) marks. Attempt A/l questions.

A ¢ A YIAUEhA THUT Uaeer (75) SguaiE WA foeiel Sfed. Foeh SR e (2)

U SRd. @E U Wi

[Maximum Marks : 150

1.

A new office of the Comptroller
General of Accounts (CGA) has been

created as a part of :

(A) The Department of Economic
Affairs

(B) The Department of Expenditure
(C) The Department of revenue

(D) The Department of Financial

Services

Who made the first use of sample

testing in Social Science ?
(A) Charles Booth

(B) P.V. Young

(C) M.L. Bowell

(D) Frank Yatan

LN o Y e} [
HEIAL-TTHAhIE AT hIHTT A=l HIT

[ o wuaE e TR
(A) aTf¥eh =FeEr faum
(B) =1 faum

(C) Hega faum

71 foaREart T St

AR YT HHITSTRLMEAT  <hedl.
(A) =" 99

(B) W= Fm

(C) TH.TH. 9

(D) Sheh IreA

[P.T.O.



Which type of research faced the
problem of finding appropriate

primary sources ?

(A) Descriptive research
(B) Explorative research
(C) Experimental research
(D) Historical research

What do you call for the subsect
of a larger population in social

research ?

(A) Society

(B) Sample

(C) Community

(D) Group of peoples

Secondary sources of data collection

include :

(A) Interviews

(B) Radio Appeals
(C) Rare Manuscripts

(D) Questionnaires

JAN - 21318/III—D
SR YRR TRNEATHES o weifeh

F[ILATAT  INE BT GHET
I ?

(A) SUHCHSE ERNEH
(B) SlemIfed wene
(C) wrEIfiTeh |l
(D) T wehem

Tl ArRHEH=AT SUHHEH |

TYNEAMEY AU K WOl ?
(A) HHT
(B) THT

(C) TgH™
(D) IRl T

2 {"ich(’i"“‘Oﬂ“ g“l*-{ mw@ ........... =
THEYT Bl

(A) Heirerd

(B) SHWEMIGR AT
(C) TAY TSt

(D) ATt




This is a list of questions called
schedule used by the investigator for
measuring attitudes, opinions and

behaviours :

(A) Observation schedule

(B) Document schedule

(C) Rating schedule

(D) Evaluation schedule
Consider the following statements :

(1) Schedule XI contains 18 subject

of Panchayat jurisdiction.

(2) Schedule XII contains 29

subject of Municipal jurisdiction

Which of the above statements is/

are correct ?

(A) Only (1) is correct

(B) Only (2) is correct

(C) Both statements are correct

(D) Both statements are incorrect

JAN - 21318/III—D

ST BT TS T ST S HNERTER
T, T SOT ST HIOATETS! SYAT

SMUTAT STl

(A) Trlteor srge=h

(B) TEUES Y]
(C) aFtamy/ o STg=

(D) AT ST

et e SMEd ST

(1) RfYT 37eny U 273Y fawa v=med
2 PIGIIG]

(2) TR IRmey TR fas
HeTdTfeAshT  STde

FAden! HIv fouE we Ty ?
(A) waes (1) §A

(B) e (2) HA

(C) el faem w=

(D) =R faum 19

[P.T.O.



In the wake of 73rd and 74th
Constitutional Amendments, the

development role of the Collector has

(A) Very powerful
(B) Ceremonial
(C) Motivational

(D) More accountable without

power

Which of the following pair is not

correctly matched ?

(A) District Collector is Chief
Executive Officer of ZP : Odisha

(B) District Collector 1is the
Executive Director of DRDA :
Andhra Pradesh

(C) DRDA 1is wunder District
Collector : Maharashtra

(D) The Collector plays very crucial
role in the execution of welfare

programmes : Rajasthan

JAN - 21318/III—D

731 9 74 HAgEyH fSewl-

foeprar=l fosrmrdial fert -

(A) 3R SrfeRma™

(B) HchiEid

(C) AFYTOTETR

(D) Aferrifeema At STRaET

ETeedeh! IV SIS SR o

R ?

(A) NSeeasrt 8 Segr aiee=n g&a
FRR] SRR oy sfifewn

(B) TSieeifaer &1 foreer urior fasd
AT HERH FOdAS AR :
MYYSI

(C) TS oo fogsm s=on feieer-
foepra STl oTe @ HeRIS

(D) FHAUHRT FHREHHAT STHATS-
ot fSiegifeerd dewamet yfien
el ;. TSN
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10. Assertion (A) and Reason (R) 10. faum (A) afor %R0 (R) 9&y -

pattern :

Assertion (A) : In Indian
Administration the tent is mighter

than the pen.

Reason (R) : To impress on the
collector the necessity of field visit
to meet the people in their normal
surroundings and to see things for

himself.

Select the correct answer from the

codes given below :
Codes

(A) Both (A) and (R) are true and
(R) is the correct explanation

of (A)

(B) Both (A) and (R) are true
but (R) is not the correct

explanation of (A)
(C) (A) is true but (R) is false

(D) (A) is false but (R) is true

faeam (A) : YR 9IMEAT eI

Tga Al AmedaE SR,

T (R) ; fSieeifierr=am Siaen «ren
JeHT=a aRfEerd ST 92U 9 O

S o Y& SN0 HR HEwoe 3T

Teld Fehdishlqd =g TaE faer
SO

(al

(A) (A) 9 (R) Tr=l & ARd 3T

(R) T (A) ¥ 3T TIRIHI 3T

(B) (A) & (R) Sl SR 31l&d, Wq

(R) T (A) & 3Tk TIRIHIU AR
(C) (A) R 3118, 90T (R) B I 3718

(D) (A) ® = 3, 99 (R) & SRR
Sl

[P.T.O.



11. What is right chronological order of

commissions and committees

studying for various urban issues in

India ?
(1) Royal Commission on
Decentralization

(2) Statutory Commission on local

self government

(3) Taxation Enquiry Commission
on local taxation and local

government

(4) Lord Ripon’s resolution on local

self government

A) (1), (2), 3), @)

(B) (4), (3), (2), (1)

(©) 3), (2), (1), 4)

D) (4), (1), (3), (2)

JAN - 21318/III—D

11, 9RAA TR YSAEEE] ST HivgT-

g fafda gften o A== ey e
e ?

(1) fashsimtomsmed=t Waa HHETH

(2) TR ITEATEA " derfas

EJENE!

(3) TNfer T I Tfeh I

FHTTTE Arehsl HHeH

(4) ore o Tenfaes sTEAEEE=

A) (1), (2), 3), 4)

(B) (4), (3), (2), (1)

(©) 3), (2), (1), 4)

(D) (4), (1), 3), (2)




12. What do you call for the process of

13.

14.

transforming social policy into social

services ?

(A) Social Welfare Administration
(B) Social Service

(C) Social Security Schemes

(D) Development Administration

Under the Constitution welfare

is a :

(A) Union subject

(B) State subject

(C) Concurrent subject

(D) Residuary subject

The concept of Social Justice finds
a mention in the Constitution under

articles :

(a) 38

b)) 39

(o 40

(d) 43

Codes

(A) (a) and (D)

(B) (a), (b) and (o)

(C) (a), (b) and (d
D) (a), (b), (o) and (d)

12.

13.

14.

JAN - 21318/IIT—D
TrTfSTeh SO TSR amed aRafdad

FHLOITA Gfshdal s RUda 2

(A) TS FHeam YRIEH
(B) HHES 9

(C) HrHIfSIeh FI& S
(D) fomE gemEA

TSTEEqE AlhahedIol &l
(A) wo foog

(B) g oo™

(C) wHerdt fao=

(D) srarerse/enfEeR fao™
ToTEEAHES HHISR A=l Heoheq T

FHHHES 3@
(a) 38

(b 39

(o 40

(d) 43

F@T‘l’lﬁ? .

(A) (a) for (b)

(B) (a), (b) =0 (o)

(C) (a), (b) A (d)

D) (a), (b), (o) 3 (d)

[P.T.O.



15.

16.

17.

Which of the following is not a target
group of the Ministry of Social

Justice and Empowerment ?
(A) Senior Citizens

(B) Transgender

(C) Beggars

(D) Labour

In some countries the term NGO is
applied to an organization that in

another country would be called

(A) Development organisation
(B) Non-profit organization
(C) Welfare organization

(D) Social organization
Public Policy is a :

(A) Discrete Decision

(B) Pattern of Activity

(C) Interest Aggregation

(D) Interest Articulation

15.

16.

17.

JAN - 21318/III—D

EoileTdehl IOl STHTSTSR =/ AT

IR AT A& AR 2
(A) w83 TR

(B) Tta deft

(C) fuerrdt

(D) R

10



18.

19.

Put in order the following stages of
Public Policy :

(1) Policy Education

(2) Policy Interpretation
(3) Policy implementation
(4) Policy formulation
Codes

(A) (4), (2), (1), (3)

B) (D, @), (2), 3)

C) (1), (2), 4), 3

D) (2), (4), (3), (1)

Match List I with List II and select
the correct answer from the codes
given below :

List I
(a) Elite Model
(b) Systems Model
(00 Neo-institutionalist model
(d) Incremental model
List II
(1) Concept of information theory
(2) Preserve the status quo

(3) Conservative tendency in policy
making-decision

(4) Four Arenas of Power
Codes

@ (b (o0 (d
A (2 (1) (4) 3)
B) (@D 3) (2) (4)
< 3 (4) (1) (2)
D) @ (2) 3) (1)

JAN - 21318/III—D

18. TSI SR S0 FHAGHR HE
<l ¢

(1) oo ferero

(2) #Rur T

(3) ERUT AT
(4) &R M
Gehdiah :

(A) (4), (2), (1), (3)
(B) (1), 4), (2), 3)
(C) (1), (2), 4), (3)
D) (2), 4), (3), (1)

19. T 1 ¥t =T 11 &1 ooar o feerean

Hhdalhigd ard W e
et 1

(a) SIS Y&y

(b) =HeIEdT U

(0 “TI-FEAER qEY
(d) eIfugg= arEd
gt 11

(1) wfedt fagrare Hehed
(2) Feferdt e
(3) o fuRvndiel EEERt yaw
(4) T 9R &
Wehdieh :

(a (b (o0 (d
A @2 @ 4) 3
B @O O 2 @
< & @ 1 @)
O @ (@2 @ (@

11

[P.T.O.



20. Who is the first thinker to state the

21.

policy science concept in Political

Science ?

(A) Max Weber

(B) John Wright

(C) L.D. White

(D) Harold Laswell

Strategic planning concentrates

(A) Extensive documentation

(B) Decision-making

(C) Fate of subunits

(D) Planners

JAN - 21318/III—D

20. TSI LRSS HehoU-egd fa=m

21.

(A) Heg s

(B) 9 =<

(C) TAEl. =he

D) TWiee AFgad

FELaA S AN hgfeag

3TTR.

(A) STUH TEATASITH TN

(B) foig faufto

(C) Sufaurme ufes

D) T

12



22.

23.

The President of India can appoint

according to the Article 338

of the Constitution of India.

(A) Union Public Service Commi-

ssion

(B) National Commission for

Backward Classes

Minorities Commission

(®)

(D) Scheduled Caste and Scheduled

Tribes Commission

Who has said that “Directive
Principles of State Policy stand for
the greatest guarantee for a genuine

democracy of India” ?

(A) M.C. Setalwad

(B) M.V. Pylee

(C) Dr. B.R. Ambedkar

(D) B.N. Rao

22.

23.

JAN - 21318/III—D

AR T AR T hetd

(B) HNMHERTAMEE TS ST

(C) ATTHSAE: AN

(D) Igfad Sdl o Aggfad S

AN

‘e Arfesien dve WUN WA
ARIMEEE Fata HiSt gt
A, T I WA A ?

(A) TH.HI. JeadrE
(B) TH.S. Ul
(C) Ef. &.3TN. 3TeEa

(D) .. Ta

13

[P.T.O.



24.

25.

According to the Article of the

Constitution of India, facilities to the
Scheduled castes and Scheduled
tribes are given for the term of ten

years.

(A) 338

(B) 334

(C) 244

(D) 164

Since the enactment of Government
of India Act 1935, this term has been

generally referred to as ...........
(A) OBC
(B) Scheduled Caste

(C) Women Empowerment

(D) Scheduled Caste and Tribe

24.

25.

JAN - 21318/III—D

TR Fiemr=n

Sgrad St d STIErad ST <@l

IES Harardt feean Sard.

(A) 338

(B) 334

(C) 244

(D) 164
Tegtie % sfean sfae, 1935 =
FAfHdTT Hremor: & STeETET Srated!

I

(A) st

(B) 3rgyfera St
(C) HAfgem HegHThTo

(D) SAgfad Sdl i ST

14



26. Match List I with List IT and select

the correct answer from the codes

given below :

(a)
(b)

List I
Protection of Civil Right Act

The Scheduled Castes and
Scheduled Tribes (Prevention of
Atrocities Act)

(00 Maintenance and Welfare of
Parents and Senior Citizens
Act

(d) National Commission for
Backward Classes Act

List II

(1) 1955

(2) 1989

(3) 1993

(4) 2007

Codes :

(@ (b (o (@

@ @O @ 4 3

B @O @ 3 @

<©c @ 3 L @

O O @ 4 3
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26. T I ¥ §=H 11 o S[ean Ao @it
feoiedn HehdisRlqd g W e
T 1
(a) AR s Ha SAfuf=m
(b) TG St i S (SR
yidsig stfafm)
(¢ TIeTsh MU SIt3 AN Q@
amfor e st
(d) HFTE SAESt Ui ST sifufaa
T 11
(1) 1955
(2) 1989
(3) 1993
(4) 2007
Hehdich :
@ (o0 (d
A O @ 4 3
B @O @ @ @
< @2 O3 L«
M @O @ 4 O3

15

[P.T.O.



27.

28.

Most debated problem concerning

Public Sector undertakings is :
(A) Restructuring of PSEs

(B) Disinvestment

(C) Financial scarcity

(D) Greater autonomy

The main reason for the limited

success of the public enterprises in

India are :

(1) Over-capitalisation

(2) Lack of autonomy due to faulty
control

(3) Unsound and non-rational price
policy

(4) Lower wutilization of the

production capacities
Codes
(A) (D), (2), (3) and (4)
(B) (2), (3) and (4)
(C) (3) and (4)

(D) only (1)

27.

28.

JAN - 21318/III—D

HTeSiieh SeHTde] Haitees faened THen

1%'01@[ s

(A) TreSIeh IUHHE TR

(B) frjdaes
(C) emf¥ier vl

(D) 31fyeh W

(2) SrogE FEETes Wl S

(3) o MU 3Tdlfcheh oA ERYI

(4) IAA gHaEn = AR
Hehdich :

(A) (1), (2), (3) =7fr (4)
(B) (2), (3) U1 (4)

(C) (3) 37for (4)

D) Haa (1)

16
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29. The concept of globalization is 9y TETE T T S
related with :
R
(A) Single state centered market
system (A) TholST hgl 9NN SHTE]
(B) The growth of single unified (B) Tshdd STIfaeh STSIR=N 1@
world market
(C) HE9 Aiifeieh €I
(C) Geographical location of a firm
. - . (D) foesft vieaet =R
(D) Foreign capitalist transactions
30. The term Local Self Government has | 30. ¥fTeh TRIEA & aRYN @1 qwnqed
been used in those countries which e r AR o s TR .
were :
(A) fowmaTshia <@
(A) Developing countries
(B) fasrfaa <
(B) Developed countries
(C) Under the colonial rule ©) 3 N Rl
(D) Poor countries (D) T <
17 [P.T.O.



31.

32.

33.

The 73rd Constitutional Amendment
added a new schedule to the Indian

Constitution, that is

(A) 12th Schedule
(B) 11th Schedule
(C) 10th Schedule
(D) 14th Schedule

The democratic decentralisation at
the grass-roots level has been

adversely affected because of :
(A) Devolution of power

(B) Local taxation

(C) Procedural checks

(D) Discretionary grants

Before 1947 the British Raj in India

(A) a regulatory administration
(B) services administration
(C) finance administration

(D) welfare administration

31.

32.

33.

JAN - 21318/III—D

73T HSAGEY FAd hIvd A

TR FHifase &vaM el ?
(A) 129 ufiferse
(B) 119 9Rfar=
(C) 109 dRfrse

(D) 149 UYRMEm™

EIIRED

(A) T FEA

(B) T1feh Y

(C) HfshaTcHer TSaraauil
(D) foashIe= se™

1947 goif wRandta fofesr o
B

(A) frams wemed

(B) 9ol R
(C) fox= gvmes
(D) HEAIRR FRTEA

18
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34. What are the causes of urbanisation | 34. YA YRUSLOMET IO HRO0
in India ? 3Med ?
(1) Transportation facilities (1) T@UEe0 g
(2) Industrialisation ©2) SR
3 P 1 ’ i d d f N A A W [a) (a (a (a)
(3) People’s growing demands o (3) <AeRTHT faedT e aredt |l
luxurious living
(4) SHEEM faeme
(4) Population explosion
(5) Tergromean gfaen
(56) Education facilities R
Codes :
(A) (1), (2), (3) and (4) (A) (1), (2), (3) T (4)
(B) (2), (3) and (5) (B) (2), (3) 3fur (5)
(C) (1), (2), (4) and (5) (C) (1), (2), (4) 3701 (5)
(D) (3), (4) and (5) (D) (3), (4) zfor (5)
not correctly matched ? T
(A) Community Development - .
(A) HHEH TdhTH hPH : 1952
Programme : 1952
‘ (B) M e Al ;2014
(B) Ganga Kalyan Yojana : 2014
(C) Indira Aawas Yojana : 1986 ©) % + 1986
(D) Integrated Rural Development (D) sk IO foehT A
Programme : 1978 1978
19 [P.T.O.



36.

37.

38.

“Administration is politics since it
must be responsive to the public

interests,” is said by :
(A) Wilson

(B) Appleby

(C) Waldo

(D) Wiedner

The POSDCORB view is criticized
because it ignores :

(A) Managerial Techniques

(B) Managerial Processes

(C) Substance of the subject

(D) Efficiency

New

Public Administration

emphasizes on :

(A) Organizational structure
(B) Bureaucratic authority
(C) Participatory processes

(D) Value-free administration

36.

37.

38.

JAN - 21318/III—D

“UITET @ USRRO 3R a9 d

SHfgATel SeeeR o9’ ST I
" ?

(A) faeem

(B) 3faetsil

(C) el

(D) fas™

N 2 ~ LY ~ N A N
qiveonld glbcenllal [eenl encdl Sld

CEL
(A) IR T
(B) SHa=AYhId Wi

(C) fov=me 9Rdac™

(D) HIEeTHAT

(A) HESATHS AT
(B) WM& ==

(C) TUTT Wik

(D) HeAfoRE TR

20



39. Match List I with List IT and select

the correct answer from the codes

given below :

List I
(a) New Public Administration
(5 Development Administration
(0 Comparative Administration
(d) Administrative Development

List 1I
(1) Edward Weidner
(2) Robert Dahl
(3) Dwight Waldo
(4) F.W. Riggs
Codes

(@ (o0 (d

Aa 6 @O @ @
B @ & @ O
e O @ 6 @
® @ @ @O O

JAN - 21318/III—D

39. F=T I 9 F= I & Sfeoan 01 et

feoiedn Hehdiergd g I e .

(b) fomm gemEa

gt 1
() 99 AHIITEA

(0 qoIdicHS TRMEA

(@) 9emHehd forend

gt 11
(1) TSge e

(2) I @A

(3) Sams deel
(4) Thexy. fos
i

(a)

@ @

B) @)

© @

D) (@)

(D)

(1)

3)

(2)

4)

(o)

(4)

(2)

3)

(1)

(d)

(2)

(1)

(4)

3)
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40.

41.

In which of the following is not

common in public and private

administrations ?

(A) Filing

(B) Managerial techniques

(C) Scope and complexity

(D) Accounting

Which one of the following elements

is ignored by the classical theory ?

(A) Formal structure

(B) Managerial techniques

(C) Informal patterns

(D) Principles of organisation

40.

41.

JAN - 21318/III—D

EATTUh] ShIUTd AR IS 3701 TSt

JIMEAT AR ATt 2

(A) TR

(B) SHOEIhIT

(C) = 3T Sfeeran

(D) TR

WATeTdeh! RV dwel TRARE FHEER

Iufeq e ?

(A) =Tl S

(B) HEEAIRT T

(C) 3MIT=er Tgdl

(D) HEea=t a
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42. Assertion (A) : There cannot be an

43.

organisation without hierarchy.

Reason (R) : Organisation involves
a group of people amongst whom
work is divided.

Answer the question using the codes
given below :

(A) Both (A) and (R) are true and
(R) is the correct explanation
of (A)

Both (A) and (R) are true but
(R) i the
explanation of (A)

(B)

1S not correct

(®)
(D)

(A) is true but (R) is false
(A) is false but (R) is true

The principle of unity of command

was rejected by :
(1) F.W. Taylor
(2)
3)
(4)
Codes :

(A) (1), (3) and (4)

(B) (1) and (4)

(C) (1), (2) and (3)

D) (1), (2), (3) and (4)

Seclor Hudson
J.D. Millet

Herbert Simon

42.

43.

JAN - 21318/III—D

faam (A) : ATFER WREE™ Foe
3T Teha TR

HIOT (R) : G&T & 19 HFat e
TS Tl STTHEY ShTHT= TN shedt ST

‘H@ﬁ'l%ﬁ :
(A) (A) 9 (R) Tl SR ATRd 10T
(R) T (A) ¥ 379 TIRIHI 3T

N

(B) (A) 9 (R) ST X 3Ted, WJ
(R) & (A) & 3T TSI T

(C) (A) T SR 38, 90 (R) § I
3R

D) (A) & I &R, 997 (R) & s
3T

AR TWehal § dxd Weliciueht shivll

AHRA  ?

(1) The, <R

(2) HRT BSHA

(3) .. faer

(4) &S HIAA

Hehdleh :

(A) (1), (3) 3T (4)
(B) (1) 311 (4)

(C) (1), (2) 31T (3)
D) (1), (2), (3) 0T (4)

23

[P.T.O.



44.

45.

The most important means of

co-ordination is :

(A) Hierarchy

(B) Consultation

(C) Planning

(D) Centralised Housekeeping

Agency

The essence of scalar principle

is :

(A) Unity of Command

(B) Span of Control

(C) Communication

(D) Co-ordination

44.

45.

JAN - 21318/III—D

qEoET 9aid Jgwegul |iEd Hivd

A ?

(A) TEEMIH

(B) HeamHEAd

(C) e

(D) SfEYd Teded  AehTo

(D) "H=<™
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46. Match the List I with List II and
select the correct answer by using

the codes given below :

List I
(a) Chester Barnard
(b) Henry Fayol
(¢ Herbert Simon
(d) Chris Argyris

List II
(1) Organisation and Innovation
(2) Zone of indifference
(3) Gangplank
(4) Bounded rationality
Codes :

(@ (o0 (d

A @ (2) 3) (4)
B) (@) 3) (4) (1)
< O 4) (1 (2)

® @ O @ 3

JAN - 21318/I1I—D
46. =1 1 Hiad g=t 11 S[ezan 3101 @i
Hfgdgqa I W feen .
T 1
(a) X &AE
(b) & ®AA
(0 Bl |EHA
(d) fohE T
e 11
(1) Ged enfor Frferoergoran
(2) SerEa &l
(3) =A<k
(4) fafgq arfeeran
Hehdich :
(a (b (o0 (d
A O @ @ @
B) @ 3 4) (@

<© & @ (O DR ¢2)

O @ @ 2 @)
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47.

48.

49.

Find the odd one out :

(A) Human relations theory

(B) Structural theory

(C) Socio-economic theory

(D) Humanistic theory

Highly coordinated centralised
administrative system is attributed

to :

(A) USA

(B) UK

(C) India

(D) UK and India

The ‘Gangplank’ refers to :

(A) Discipline

(B) Initiative

(C) Equity

(D) Level jumping

47.

48.

49.

JAN - 21318/IIT—D
Frafafediq e fawma sieen :

(A) HFa ey faga

(B) T=AcHss fagra

(C) wHIfSTeh-aTfefer fagia

(D) HHedER! fagid

AR oI Hhigyd TR
I HEY Wit

R,

(A) T T o (FTHET)
(B) ¥ foea (TH)

(C) 9rd

(D) fore anfor wRa (Feh 3Mior 9Ra)
TR AR Hetad oM

(A) fer

(B) @R

(C) HH

(D) TR oA
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50. Match List I with List IT and select

the correct answer from the codes

given below :

(a)
(b)
(0
(d

(D

2)
3)
(4)

List I
Frederick Taylor
Abraham Maslow
Chris Argyris
Frederick Herzberg

List 1I

Management by Integration

and self-control
Two-factor theory
Reward theory

Need theory

Codes

(A)
(B)
(®)

(D)

(@ (o0 (d
o @ @2 3
@ @ @O @
@ @O 6 @
“4) ) 1) (@)

JAN - 21318/III—D

50. g 1 Hierd = 11 oo 01 @iretie

Hfgdgqd I W feen .
et 1

(a)
(b)

(o

(1)

(2)
3)

(4)

- -
-
.

(A)
(B)
(®)

(D)

Helsh e

STIRH A=Al
fora smifE
(d) Hefe gstort

it 11

THICHE  F @A

HIqEITIT

feoes fogia
Tt fag

e fagia

(a)
(1)
(3)
(2)

(4)

(D)

4)

4)

(1)

3)

(0

(2)

(1)

3)

(1)

(d
3)
(2)
4)

(2)
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51.

52.

53.

Which is the last step of Prismatic

society ?

(A) Neo-Prismatic
(B) Ortho-Prismatic
(C) Eo-Prismatic
(D) Bio-Prismatic

Who said, ‘British Constitution is a
child of Wisdom and Chance’ ?

(A) Litton Strechy
(B) Margaret Thatcher
(C) Winston Churchill
(D) Edward Dicey

“Differentiation and integration are
two key elements in the process of

development” is the assumption

of :

(A) Classical theory
(B) Neo-classical theory
(C) Ecological theory

(D) Incremental theory

51.

52.

53.

JAN - 21318/III—D

AlAh T U= AfaH 9= ShIvTd!
AR ?

(A) S-St
(B) smefi-alietent
(C) sell-dlIeThi™
(D) STA-AeTh

“fordter TeIEe & STRToTaur STt g
AT MR’ 3 RV WA Mg ?

(A) fore ==

(B) AMRE =R

(C) forem =fda

(D) Teae SR

‘faermiertor emfor Tkl B o
fhd= S U@ ®eHh ofed’ A
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54.

55.

Pay fixation in UK is done on the

basis of :

(A) Index Number System

(B) Increased Productivity Index

(C) Performance rating

(D) Priestley formula

Which one of the following is the US
President’s principal staff agency in
fiscal, legislative and administrative

management ?

(A) The Executive Office

(B) Office of Management and

Budgeting

(C) White House Office

(D) Office of Administration

54.

55.

JAN - 21318/III—D

9. (Fee) mfw A fRed @

(A) = HAR TS

(B) ScUGehdl @ g

(C) fTodreeshar AR

(D) W& hiHe

TqShINE, dufes  Tfor USRI

HEATIA ST (F.TH.) TTALEN

WeteAleh] AMYRTO hRRa 39 :

(A) FEFH HEfe™

(B) IIEATYH 3107 SASTSTUSIh T ShATeT

(C) =ES TTHY HEd

(D) URTHHIT HIATAT
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56. The

57.

nature of Development
Administration is different from

traditional administration. (Choose

the odd man out) :

(A) Structural and function
similarity
(B) Goal-oriented and innovative

(C) New techniques and new

attitudes

(D) Citizen participation

The concept of Development

Administration used after ...........
(A) First World War
(B) Second World War

(C) Mayo’s Resolution

(D) Riggs concept

JAN - 21318/III—D

56. farg gvmaa onfor 9RUfte wemg-

57.

ATde WX (TTeadeh] ghid 3T

faer)

(A) =ArRs fur st

(B) =nfyg@ emfor Aifa=rquf

(C) o = smfor el stfait

(D) AP 984rT

T AT
(A) 9I9 RIS
(B) fgda megs

(C) #Ar=n st

(D) oS Yoo
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58.

59.

The political system in under-
developed countries can be divided

into :

(A) Traditional autocracy system

(B) Dominant party mobilization

system

(C) Non-communist system

(D) Autocratic elite system

Who considered differentiation and
integration as two key elements in

the process of development ?

(A) Panandikar

(B) Neal F.W.

(C) F.W. Riggs

(D) Milton

58.

59.

JAN - 21318/III—D

STfaehiad USSHEA TS Faee

WATAYHO faarTelt ST 9ehd ¢

(A) IRURE THAWTRT Saeel

(B) Udes U& HidUaul HeEel

(C) for Tr=EET =gawen

(D) gRASTE! A Saen

famta gfwaued sramemtor A1t

THIHIHT & I HEqUl Bk 3Tled
3 FHUE TG B 2

(A) TIUETeR
(B) ThE=Y. -
(C) The=g. s

(D) T
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60. Assertion (A) and Reason (R)

pattern :

Assertion (A) : The concept of
Development Administration is used

in two interrelated senses.

Reason (R) : The administration
of development and development of

administration are intertwined.

Codes :

(A) Both (A) and (R) are true and
(R) is the correct explanation

of (A)

(B) Both (A) and (R) are true and
(R) 1is not the correct

explanation of (A)

(C) (A) is true but (R) is false

(D) (A) is false but (R) is true

JAN - 21318/III—D

60. faum (A) 37T RO (R) WET

faem (A) : o wemE 9aed T 9

TS e Tl 3TTe.

HRUT (R) : fawm@ma gymaa aarfon

YT foehme TREmd T[herdd 3T

- -
-
-

(al N

(A) (A) @ (R) Tl seR qT_d ST

R) T (A) 3 TIFH TAHI]

Sl

(B) (A) T (R) Sl SRR 3TTed, T

R) 8 (A) 9 TgFH TIEIRI

T

(C) (A) &R 3¢, W (R) T IH
3

D) (A) T IF 3T, g (R) T TR
3y
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61. Assertion (A) and Reason (R)

pattern :

Assertion (A) : Importance of the

Cabinet Secretariat is due to

expansion in the scope of
government.
Reason (R) : Advancement of

technology has resulted in creation

of government agencies.

Select the correct answer from the

codes given below :

(A) Both (A) and (R) are true and

(R) is the correct explanation

of (A)

(B) Both (A) and (R) are true but

(R) 1is not the correct

explanation of (A)

(C) (A) is true but (R) is false

(D) (A) is false but (R) is true

JAN - 21318/III—D

61. fa&m™ (A) 0T SR (R) T ¢

(aV

faam (A) : ST RO Shad

gfeaTeare gt died 379,

®RUT (R) : A0Ah fom™Mes ITHHRE
Afyero=l fAfddr 8.

TTell fooedr Fehdiemyd arg 94

faet

Hehdich :

(A) (A) 9 (R) SI=I S{sR Ted 101
(R) ® (A) 3 3TgF TISHI

Sl

(B) (A) 9 (R) <l s 37Rd, g
R) 8 (A) 9 TgFH TIEIRI
T

(C) (A) ¥ SR 3R, Wg (R) & IF
3T

D) (A) & IF 3R, W (R) § SN
3T
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62. Who has recommended that “The

63.

Cabinet Secretary should be an
administrative officer of the highest

rank” ?

(A) Chester Barnard

(B) N. Gopalswami

(C) Gulick

(D) Woodrow Wilson

Who of the following is the first
line supervisor in secretariat

hierarchy ?

(A) Secretary

(B) Deputy Secretary

(C) Additional Secretary

(D) Secretariat Officer

62.

63.

JAN - 21318/III—D

(%3 o O

holc

o

=G Y
oh Xl

B S=9 USTTA

WIS ARy e’ 3™ v

gfem 3 2

(A) ==X I8

(B) TA. TUTeSTHT

(C) TfeTeh

(D) eI faeem

giaeTerd| TeRWd o9 W9 gaa8is

EciTeTieh! hIOT 3THAl 2

(A) dfe=

(B) Sudfee

(C) AfaRea Ffea

(D) HiameE= SAfeehit
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64.

65.

The rules for transaction of business

of Government of India are made

(A) President

(B) Prime Minister

(C) Parliament

(D) Secretariat

‘Academy Board’” of Sardar

Vallabhbhai Patel National Police

Academy is headed by :

(A) Home Minister

(B) Home Secretary

(C) Minister of Human Resource

Development

(D) Secretary of Human Resource

Development

64.

65.

JAN - 21318/III—D

T LA °¢|°|‘5I{i®|l®|€|";| IRRE

gR Trafo el STar.

(A) TeITat

(B) 9eH

(C) T

(D) Gfadared

TER JeavydE Ted U diend

STRGH= * STehGHT FEa™ TEUs ©

ERIERIGIE

(A) T& w3t

(B) g Hf=d

(C) \a goyq faerm wi

(D) HFd HEeA fase gfea
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66.

67.

The State Chief Secretary does not

act as :

(A) Principal Advisor to the Chief

Minister

(B) Principal Advisor to the

Governor

(C) Secretary to the Cabinet

(D) Secretary to the Chief Minister

Citizen charter, in India, ensures in

administration :

(A) Quality approach

(B) Flexibility

(C) Impartiality

(D) Uniformity

66.

67.

JAN - 21318/III—D

TSI YHE e

FHA AT,

(A) JEAT=mal TE el TR

(B) TSIUIE Y@ W]

(C) whded gfeg

(D) geav=r= |ied

(A) TUTERT gfteehlv

(B) wafaehal

(C) Ygwre farfedar

(D) Ueheldl/Tesh&Udl
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68. Match List I with List IT and select | 68. @rmcital =t I ft gt I Jesen 3Tfor
the correct answer from the codes Tl fooiean Fehdismygd I ST
given below : forar -

List I Tt 1
(a) Governor (a) T=IUTA
(b) Council of Ministers (b) H3 gftue
(¢0 Duties of Chief Minister (o J:]){Q*«H-iﬂltﬁ A
(d) Legislative Council (d) fat uftve

List II T 11
(1) Article 167 (1) A=< 167
(2) Article 169 (2) 3% 169
(3) Article 155 (3) 3T=< 155
(4) Article 163 (4) A=< 163
Codes : Hehdlah :

(a) (D) (0 (d) @ (0 (d)

A @ (2) 3) (4) A @O @ 3 @
B @ 3) (2) (1) B @ 3 2 @
< O (2) 4) (D <© 3 @ 4 @
M & @ 1 @) D B @ 1 @)

69. It lays down the full blueprint of | g9 - T Qoh/FHIR Ui

personnel processes : d-“tﬂv;f{']@i‘é] qeT hd.
(A) Executive Decisions (A) SEwERr fAuig
(B) Administrative Rules (B) 9Eehig oM
(C) Constitutional Provisions (C) SIATcH q.{gcﬂ
(D) Manpower Planning (D) ATHHe TasH
37 [P.T.O.



70. Even a brilliant training cannot

71.

72.

repair a faulty :
(A) Recruitment
(B) Placement
(C) Procedure
(D) Organization

Morale is improved by the concept

of :

(A) Authority

(B) Hierarchy
(C) Teamwork
(D) Accountability

The focus of performance appraisal

is on :

(A) Professional Accomplishments
(B) Personal Accomplishments
(C) Performance Skill

(D) Value attitudes

JAN - 21318/III—D

70 mwwé@a ............ Wa—w

71.

72.

god oht Rlend =||g'l.

(A) e
(B) TSI

(C) T
(D) SeETEeRT

Tl
(A) EETas Ry
(B) o=feder dfgdt

(C) Troures wreTeH

(D) 9ea Yot
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73.

74.

75.

Which one of the following is not a

challenge before local rural

government in India ?

(A) Financial support

(B) Law and order

(C) Access to marketing outlets

(D) Promotion of agricultural

research

The number of demands in General

Budget for civil expenditure is

(A) 109
(B) 106
(C) 103
(D) 102

Which of the following is not true
about Comptroller and Auditor

General of India ?

(A) CAG is appointed by the

President

(B)

He enjoys the security of tenure

()

He can be removed by the

President of his pleasure

(D) His salary is charged upon the

Consolidated Fund of India

73.

74.

75.

JAN - 21318/IIT—D
ORATdia Tq1feh UM AT

AUk hIUId SAeeM ATl ?

(A) foxim smemr
(B) IS 30T eFereen
(C) SIRUSHT ST3TTeHdl

(D) TS GINEAE ard

R EEEe GaeeRo SefHsheard fohdl

(A) 109

(B) 106

(C) 103

(D) 102

Teede! hIvd vRaren fEss 9
TR &R dedid T ATer ?

(A) FTt Frget Teudigr B

(B) I srlehlesr= & fHesd

(C) TIE TUdr= S geladl I

BETS

(D) wRaren Gfed fefqm @@= o
=
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